
0.20

0.24

0.28

−3 −2 −1
\verb|log10(A/A0)_ref|

\v
er

b|
rh

o−
th

5|
\verb|HLT_Z0−sig0.120000−alpha−1.99|

\verb|HLT_Z0−sig0.120000−alpha0.00|

\verb|HLT_Z0−sig0.120000−alpha2.00|



0.2

0.3

0.4

−1.5 −1.0 −0.5
\verb|log10(A/A0)_ref|

\v
er

b|
rh

o−
th

5|
\verb|HLT_Z0−sig0.025000−alpha−1.99|

\verb|HLT_Z0−sig0.025000−alpha0.00|

\verb|HLT_Z0−sig0.025000−alpha2.00|



0.1

0.2

0.3

0.4

−1.25 −1.00 −0.75 −0.50
\verb|log10(A/A0)_ref|

\v
er

b|
rh

o−
th

5|
\verb|HLT_Z0−sig0.000500−alpha−1.99|

\verb|HLT_Z0−sig0.000500−alpha0.00|

\verb|HLT_Z0−sig0.000500−alpha2.00|


